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QUESTION ONE (30 MARKS)
(a).  Briefly explain the following concepts:-
(). Buffer stock
(if).  Price discrimination
(ii1). Sunk cost
(iv). Price elasticity of demand
(v). Inter — temporal choice (5Mks)
(b). (). Explain what is meant by production possibility frontier ~ (2Mks)
(i). What is the significance of concave shape of production possibility
frontier? (1MKk)
(ii). What does the shifting of production possibility frontier to the right or
. left illustrate? (2Mks)
{¢). (. Reitis a suiplus and not a cost and as such it does not determing the
price of goods. Discuss (5Mks)
- (@) Give reasons and explain why firms set a limiting price. ~ (5Mks)
(d). (i). Give and explain with examples four aspects of a product which may
be changed as a method of increasing the market share. (4mks)
(i1). Explain the concept forward integration (IMKk)
(e). ().~ Give and explain two measures of advertising intensity indicating the
merits and demerits of each of these methods. (2mks)
(i1). Explain what you understand by the term ‘economic rent’ earned by
any of the factors of production. (3Mks)
QUESTION TWO (20 MARKS)
(@. (1). Consider the following utility function:

Utility = UX, Y)=In X +In Y.
Show that the function exhits increasing marginal utility.
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(ii).
(ii).

Comment of the behavior of marginal rate of substitution as results
indicate. (6Mks)
Explain the following concepts, used in production:-
(1). Intensive margin .
(). Extendive margin (4Mks)
Give and explain the major advantages of life insurance scheme
(3Mks)

Give and briefly explain the axioms of rational choice. ~ (3Mks)
Suppose the production possibility frontier for two goods X and Y is
given by the equation

X2+ Y2 =225
Find the slope of the frontier at the point when X = 10, Y = 5.
Comment on the opportunity cost between the two variables.

(4Mks)

QUESTION THREE (20 MARKS)

(2). (i). Enumerate all actors in any dynamic insurance industry providing
“* reasons for their existence: - (4Mks)
(i), Dxplain the concepts of income and substitntion effects. (4Mks)
(b). (). Explain with the aid of diagrams the producer’s equilibrium in an
industry, in the short and in the long run periods. (6Mks)
(i). What do you understand by supply and demand for money? What
effect would increases in the supply of money have in the economy?
(iii). Explain the concept equilibrium price. (2Mks)
QUESTION FOUR (20 MARKS)
(2. (D). Give and explain at least five life insurance cover schemes offered to
individual investors in modern economies. ' (5Mks)
(ii). What do you understand by Price discrimination? '

e In what circumstances and
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pricing policy? (5Mks)
(%) (). Explain clearly the mear ning and importance of the law of d'_iminisbjng
returns. - (5Mks)
. (ii). Explain the effects of price changes on output and employment.
(5Mks)
QUESTION FIVE (20 MARKS)
(@). (). With the help of a diagram, explain how surplus profits occur under
monopolistic conditions. (5Mks)
(i). Consider the following utility function
Utility =U(X, Y)=X+InY.
Show that the function has a diminishing marginal rate of substitution
(MRS) (6Mks)
(®). (). Giveand explain the major distinctions between price determinations
in a perfect competitive market and monopolistic competitive one
(4Mks)
(ii). Explain the importance of the law of diminishing returns. (5Mks)




